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1. a) Bl1B2T=AEs,

Diagram 1.1 shows two groups of animals.

4 X o X

Animals B as X%
Lizard Elephant
i) 7
Turtle Zebra

B 1.1 /Diagram 1.1

i) 3L T A R AXAK F — M.

Give an example of animal that can be classified in group X.

[1 4*/mark]

i) HRAEE11, EWTHBRTHR—A? AHA?

Based on Diagram 1.1,which group can sea lion be classified? Why?

[1 %*/mark]
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b) B128 THAM 4,

Diagram 1.2 shows two types of animals.

B1.2/ Diagram 1.2

i) REEL2, KEHIAF L RE S,

What is the difference between two animals in Diagram 1.2?

[1 4~/mark]

i) HAER1.2, REHHAARGRE, sHAMHES |V

Based on Diagram 1.2, these animals have the same characteristic.

Tick \ | at the same characteristic.

8
Habitat

IR AFAE
Body coverage
#He IR
Eating habit

[1 4~/mark]
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2. ¥R RPEALANERLHEST. HMNA LRI THEE,
One night, Aiman and his brother were observing the sky. They observed the

constellation in diagram 2.

B 2/ Diagram 2

a. BEMEIRFL? £ ( ) BV A EE,
What is constellation? Tick ( Y ) in the correct box.

ARG ARG R

Stars glittering at night in the sky

—HAEREHAHZEENER

A group of stars forming a recognisable pattern at night in the sky

[1 %/mark]

b. B A B2 LR B 8 2 B L AR,

Name the observed constellation in diagram 2.

[1 %*/mark]

£, 2 Al sEROGRR?

How the constellation helps the farmers long time ago?

[1 4~/mark]



SULIT 5 028/2

ARBMNARLEE

We could not observed constellations during day time

REALHATE—ANRE.

Give a reason based on the above information.

[1 %~/mark]
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3. 2—RTEANAANSHALZFAZAYNHEGRELR.

Table 1 shows a result of investigation on the amount of toxic waste in a state for 4

years.
1 REFHZEEGHE (2F7)
Year Amount of toxic waste (kg)
2011 1000
2012 2000
2013 3000
2014 1500

% 1/ Table 1

a) HIEUEBRR, BHELBRETH.

Based on the table above, state the constant variable.

[1 %*/mark]
b) B #EFA ERDORE N TN X,
State the change pattern of the amount of toxic waste.
(1 %/mark]

c) HAB2013F 220145 A EF A FRMAE, b —/HEH.

State one inference on the amount of toxic waste from the year 2013 to 2014.

[1 %*/mark]
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d) i ERIAELERME &L

State the conclusion that can be made based on the investigation above?

[1 %*/mark]

o) MK EE, AHLAERWEREERNGEETR?

In your opinion, why does the toxic waste remains in our environment?

[1 %-/mark]
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4. (2 MEBAGLREAFELE. RAAFELHNEARAERN.
Akmal used a torchlight during a blackout in his house. He found out that the

torchlight has a low brightness.

Diagram 4.1

(1 ER AR FELH TR T &

Suggest one way to improve the brightness of the torchlight.

[1 4~/mark]

(i) MEE 4189FEE, ARALHAGETLN -~ TELR.
Sketch a complete electrical circuit using symbols based on the torchlight

given in Diagram 4.1.
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[2 %"/mark]

(b) YR EBPAHARF LRGITEN TR
An investigation was carried out to identify the brightness of light bulbs for 2

different electrical circuits.

Brightness of bulb
B wg x CircuitX
@ €% Y CircuitY
1 2 3

B 4.2/ Diagram4.2

() AR LR,

Name 2 types of the electrical circuits.

[2 4-/mark]
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5. B5 2 T4t st —Fdh o AT AT R AT 7o

Diagram 5 shows the investigation of an object.

B 5/ Diagram 5

a) & A EST 4 R 2 T AL TEAFIE?
What is the property of light being used by the object in Diagram 5?

[1 %*/mark]

b) 5 & AR 48 A VAL A A A 6 RIEFT B AR 89 A o ?

State two equipments that used the properties of light based on the situation above?

[2 %4 /mark]
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c) EFHHBEE P R,

Match the picture to the correct property of light.

7T R F

Light can be reflected 4
T AT S L

Light can be refracted

[1 4*/mark]

d) ﬂéﬂ#¢%%m%%oﬁﬁﬂ&%£%%m,Eﬁfééwﬁ&mkﬁﬁﬁz
EIRE, B8-S E 2R

Reezan goes swimming in a pool. Based on properties of light in Diagram 5, state a

precaution that he must ensure before diving into the pool.

[1 %~/mark]
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6.| #TREMERY, AF2EA AR S F M AT
To build a strong building, materials such as iron and concrete are used.
B63 ~HMAERARRAMAARESN 5 E.
Diagram 6 shows two houses made of different materials
BFEftE 3055, BTaHA |
Houses House condition after 30 years

=

JETA
House A

ETB
House B
& 6/ Diagram 6

a. (i) #RFERES, B AR R

Based on diagram 6, state your observation.

[1 4+~/mark]
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(ii) #&4F a(DEIWR, 5 & MRe9IHERT,

State an inference for your observations in a (i)

[1 %*/mark]
b.MREEEE—HET, ANEZE—ANRENETHEAZNAEZ LS
(Vo

Naim wants to build a house. Tick (\) for factors to be considered by Naim to build a
strong and long lasting house.

it mE
The building height

E R ETIR
The building shape

32 S 40 09 JR 2R & AR
The building base area

[1 %/mark]
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JEMEBA LS THIFT L, HiPERAAMAZE, LERAHAAI0F; #f
Qi A AtAt g, LXAMA20F; HRIERARZE, LXAHA30
Fo

Three bridges were built over three rivers in Melaka State. Bridge P is built with
wood and its durability is 10 years, Bridge Q is built with steel and its durability

is 20 years and Bridge R is built with concrete and has 30 years durability.

HRAE LA TH, S8 —ARAZTHRORE &,

Based on the statement in the above passage, construct a table to show the
differences between the bridges.

[2 4~/mark]
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7. MEGRAEARE K a% P . Q fo R #IT—AHXBA L. #R Y

REREXE L,

Ali conducts an investigation on magnetic strength by using 3 different sizes of

magnets labeled as P, Q and R. A magnet labelled as Y has been fixed on the surface

of a table.

&3 1 /Activity 1 :

MEHas P Eak Y BT, 8% P BAFE, WEZALA XA

BT BFEK Y .

Ali has placed the P magnet close to Y magnet as shown in diagram 7. When he let go

15

028/2

P magnet, Ali found out that the P magnet has distanced away from Y magnet .

2 3277 / Before

A

U

S S

U

#4% Y MagnetY #% P MagnetP
KI5 | After
U S S
B4 Y MagnetY 4% P Magnet P

& 7 / Diagram 7
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&3 2 | Activity 2:

B 7 tyFsHhEEEE Q A= R 37, #NEKAFOBERNK Y e FEN
£, k2 RTFERER,

Activity in diagram 7 is continued using Q and R magnets. The repelled distance for

each magnet has been measured from magnet Y. Table 2 shows the results of the

investigation.
% %%/ magnet P Q R
B 4k 48 Fr 89 SE 3/ Repelled distance (cm) 23 X 4.7

# 2/Table?2

(a) %= R sk A F 93B3 09 T AL XA, A R2EZXG91A,

Predict the value of X in table z if the repelled distance pattern increases.

[1 %*/mark]

(b) 4B E 16952302 B 15 h — A 387,

State one reason (inference) based on the results in Table Z

[1 %-/mark]

(c) B #i/ State the,

i. B = % T 2 / constant variable:

ii. # 9 T 2L/ manipulated variable:
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[2 4~/mark]

(d) #EEx 2 BHFEH, KF—AFHRTHE.

Based on the information in Table 2, construct a bar chart in the space below.

[2 4*/mark]
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8. RRTEMAZAELNENEREIIEAMRAMRIEIZTRAELFE A,
Danish finds out that the residents living in a flat has a problem bringing water from
the ground floor to the top floor.

EER B KBRS FA,

The situation faced by flat residents when no water supply.
253

8.1 / Diagram 8.1

ARAEEL2, KFPHER LA EEBEER A,

Based on Diagram 8.2, help Danish to solve the problems of the flat residents.

7 o8 ¢

k4 27 R EX
Pail Steel Hook Rope Tool X

® 8.2 / Diagram 8.2
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a. RBUALS S, Kok RE AR EAMB A AT AR A LR F &,
Based on the objects, create a device to resolve the flat residents’ problem by

sketching it in the space below.

[2 %" /mark]

b. ZBUF Sh R AR T AT By AR sk A L2 AL 49 1] AR
Suggest 2 another simple machines which can solve the residents’ problem near

Danish’s home.

[2 %*/mark]
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c. BREFRANHENMRRAECEZRARMER, RELEHNBTH G A,
B —ADEEIZFI AN T &
The simple machine built by Danish is ready and usable but he has trouble moving

the rope. Suggest a way to resolve his problem.

[14~/mark]
d. HANVEE TR E A BA 69 K PTE R 69 B AR ?
Where do we usually find a simple machine used by Danish in his invention?

[14~/mark]
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